B 22EEVEIHMHILHRAR CITY CUP (FEXH)

FiEERES
<LZF> (288)
Hi2 : 1282280 (H) =5 A7 ALEF)-F  Ad-h Bt : SEF45%)
BF i (%) (=) =¥ TO
#? 1 9:20|WABC2| WA 2 fi VS WB2MI | RiE & | WC 141
= | 2 | 10:25/wABCl| WA 11 VS WB 141 | Jrig RE | WA 211
1 ‘ll. 3 | 11:30|wABC2| WB 211 VS WC2£I | & KE | WA 14
2 fi] [ 4 | 12:35]wasci| wB 1 i VS WCIfI| & | fRiE |WB2fI
s0n—7| 5 | 13:40|waBc2| wC 241 VS WA 2 | & JKE | WB 14
REH | 6 | 14:45|wasci| we 14 VS WAL | & | & |wC2M
16:00 FKEN
<LZF> (288)
HiZ : 12822H (H) 215 Y147 ALETP)—-F : BI-h B35 : 8EF459)
S (%) (=) =1 TO
#? 1 9:20|WABC4| WA 4 fi VS WB 41 | RE E | WC 34
= | 2 | 10:25|wABC3| WA 31i VS WB 31 | JE KIE | WA 44I
3‘1’. 3 | 11:30|wABC4| WB 411 VS WC4MI | E IKIE | WA 34
4 {3 | 4 | 12:35[wascs| w3fz V'S wcfr| jymE | mE [wsam
JN=T| 5 | 13:40|wABc4| WC 41z VS WA 44 | RE JE | WB 31
RE® |76 [ 14:45|wascs| we 3 VS WA 3| JRE | JRE | WC 4
16:00 FEN
<EB¥F> (288)
HiZ : 12822H (H) =215 Y147 ALEP)—-F : CI-h B35 : S8EF459)
BFfE (%) (&) =¥ TO
1 9:20(MABC2| MA 2 1if VS MB2{I | RE IKE | MC 11
%; 2 | 10:25|MABC1| MA 117 VS MB 1{Z | RE E | MA 24
1 ﬁll: 3 | 11:30|MABC2| MB 21i VS MC2MI | RE E | MA 14
2 fi] | 4 | 12:35[masct| MB 141 VS MC1fI | JRE | JRE | MB24I
JMn—7 1| 5 | 13:40(mMABC2| MC 211 VS MA2{I | RE E | MB 141
RE® | ¢ | 14:45|masct| Mc 14 VS MA 147 | RiE g | MC 241
16:00 FKEN
BF (288)
HiZ : 12822H (H) =15 Y47 ALEP)—7F : DI-h Bii5 : 8459
S (%) (&) = TO
1 9:20(MABC4| MA 4 1if VS MB 44l | RiE E | MC 31
%? 2 | 10:25|MABC3| MA 31 VS MB 3{I | RE E | MA 44T
3‘37. 3 | 11:30|MABC4| MB 41i VS MC4M4I | RE E | MA 314
4{37_ 4 | 12:35|MABC3| MB 31 V'S MC3fI | IRE MOE | MB 411
W=7 | 5 | 13:40|MABC4| MC 411 VS MA 447 | RiE & | MB 311
REH 6 | 14:45[MABC3| MC 31 VS MA3fI | RiE E | MC 44
16:00 FKEN




